Here we have some voltage sources, and we will draw new voltage labels on each.

The polarity of the labels will always have the positive terminal at the top.

The signs match for our first element, so we simply copy the value.

The signs mismatch for the second element, so we negate its sign.

The polarity matches in the third case, so we leave its value as it was.

The fourth element has a polarity mismatch.

We start by writing a negative sign.

Then we transfer the value, -2 V.

This gives + 2V.

The bottom labels will have the positive terminal to the right.

We have a sign mismatch for the first, so we change this sign.

The sign matches for the middle element, so we copy the value.

The last element’s sign is changed due to a mismatch in polarity.

